DO NOW

How do you find the area
of the shaded region at
right?
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Area of a Region Between Two Curves:

If /" and g are continuous on [a, ] and g(x) <f'(x) for all x in [a, b],

then the area of the region bounded by the graphs of /" and g and
the verical lines x =g and x = b is:
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2. Find the area between f(x) =2 - % and g(x) = x.
*You must find where they intersect to find bounds.
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Area of region = Area of region
between f and g under f
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Example:

1. Find the area bounded by y =x, y =x> x : 2,and x =3
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3. Find the area bounded by f(x) = 3x* - x? - 10x and g(x) = -x* + 2x
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J‘(['(3x3 - x2 - 10x) - (=% + 2x)]dx +J.2[(-x2 +2x) - (3x - ¥ - 10x)]dx
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